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Note Furst 15 minutes are allotted for the candidates to read the question paper
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Instruction :

ij  All questions are compulsory. Marks allotted to each question are given in

the margin.
i1j In numerical questions, give all the steps of calculation.
iiij Give relevant answers to the questjons.

iv} Give chemical equations, wherever necessary.
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t) CH , COOH 1) Hit (Jflfl ) HCHO 1v) CH ; CHO 1
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1) B 1)
Four alternatives are given In each part of this question. Select the correct

alternative and write it in your answer-book :
100 ml of 10 M HCI is mixed with 75 ml of 10 M Na2(303. The resulung

a)

solution would be .,

1) acidic ii) baslt::jE iiij  neutral iv) amphoteric 1
b)  Number of unpaired clcctronﬁé Ccu?t (2=29) is

i) 1 i 2 i) 3 iv) 4 1
c) Total how many ions are there in [Ci:){N,I*{3)5Cl]CI2 solution ?

) 2 i) 3 i) 4 iv) 5 1
d)  Which compound of the following does not reduce Fehling's solution ?

1) CH3COOHiﬂ HCOOH ii1) HCHO iv) CHSCHO 1
e) How many primary amines are possible for the formula C 4 H, lN ?

i) 1 i 2 PJ i) 3 iv) 4 1
f) Deficiency of which vitamin ci;!.iscs scurvy ?

i) 18] 1 C | , m) D wv)  E 1
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HgCl, 941 SnCl, Felta facryq sy gy a1 2 aaa, #0 7 2
3zrEwl g fag i fa | o, tNQ ), €l S0, T4 [Co(NH 4 ) 50, | CI
A gyrqud) § 5 2
frafefaa vaafye aftem 5 i ifar
C.H.Br M[ A) K______+,,cr,o7 FHSO g 1+ ]
What is the relation between elevation in boiling point and molality ? 2
Aqueous solutions of HgCl, and SnCl, cannot co-exist, why ? 2
Prove with example that [ Co (NH,);Cl] SO, and
[Co(NH; )5 SO, | Cl are ionisatieh isomers. 4
Complete the following chemié equation :
C.H:Br 2D (4 K"'Cnog 122, (8) 1+ 1

6mmzoommﬁﬁ%|mﬁmﬁmw|m#m

dreret 394 futi® 0-52 K kg mol ™' R | ,

Errfrfiga wfReaTal 3 W SRR & AT FAIST 1+ 1
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@ alculate levation i bmhng
O gm urea 1s dissolved 1n 2 gm water Calc

point. Molal elevation constant for water 15 0 52 K kg mol
. . l + ]
actions
Write the names of the reageuts used in the following reactio

1) Conversion of benzyl alcohol into benzoic acid
1) Formation of Butan-2 ”l'#lilu Butan-2-one.

. y te chemical
How will you convert ethanol Mto the following compounds 7 Write

equation only.

1} 3-Hydroxy butanol i)  But-2-enc-al
e fructose

R : ‘e Tl e il
Ketones do not reduce Fehling's solution and Tollen's reagent wh :

containing ketonic group does. Why ?

TR g ) afoar fafeg |
27°C W I F 2% Fed e w1 wmw @@ wa difae | faema foams

1 + 2

S=0-082Latm. K™'. mol"!.
m%%qam%ﬁaﬁaﬁ_mr 3
NHamﬁ%ﬂﬁmmmmftﬁﬁﬁﬁaﬁaﬁﬁm%r%ﬁHz%m%
?HERTIB-T'ﬁ?(K=2-5x10_41ﬁﬁq?ﬂ?{*lﬁaﬁ'§'l} 3
frafafiga smaa & Sefia faems & @ fafiu 1] +1
i) zn* i) Cu?* iii) Fe?*

Write the definition of osmotic pressure. Calculate the osmotic pressure
of 2% aqueous solution™ of wurea at 27°C. Solution  constant

5= 0082 Latm.K_I.mol'l, e
Explain Faraday's laws of electrolysis. )

Decomposition of NH_n,_un the surface of platinum jg €ro order reaction

What will be the rate of formation of N._! and H ,?

" ¥ I ‘1
(K=25+10 "mol litre ! se¢ T| K
Write the colour of f””,,“.”w oy 10 agucous solution - ]+ 1+ ]
gy 2 :
1y Zn iy Cu?t ) Fe
1


https://www.upboardonline.com/

il

8012

)

I]’)

;,ﬁ)

. 347(KC)
sAs v @ B 0 enal mifag gy i@ wna w1 g b 1 +3
ik a whifda 61 4 4 St a1 Jeren Hird @agu !
fafafaa & s1do Yo flo vo oy, A fefgu P+l el el

) K4 AF

1) | Fe(H,0), |CL,
m) | Cof T\H-i‘-i]SCl]S(J‘1
v) Ky [Fe(CN), ]

TR B n-ERA, ewEifen e, e aEAEEgE a wEfE e =o E
mﬁ%mmﬂmﬁl 1+1+1+1

What is electrode potential ? Mention the factors affecting it. 1+3

Explain with example the difference between molecularity and order of
reaction. https://www.upboardonline.com 4

Write [UPAC names of the following : 1+1+1+1
) Ky[AF,]

i) [Fe(H,0)g|CL,
i) [Co(NH4)sCl]SO,
iv) Ky[Fe(CN)g]

Write chemical equations of the{reactions of formation of n-hexane, Penta
acetyl glucose, Glucose cyanohydrin and Gluconic acid from glucose.

1+1+1+1
0 AT 2 T —  (Fa1 vErEte gt fafen) Lt L lelel
) feean sfasiae 1 Bry | CCly® anfirfiean & ] 2
i) mrﬁq:ﬁﬁ#émﬁzw@ﬁlﬂ Mg & afufsar @ 2 »
i) afere wwrge 1 shifear KON, (mc] AR o
) ufrer sATEs Afgan uumms SRICRLETCE B
v) ufgeE amrsg fnrra? wiiee S Fﬂ; iufem s 2
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i) Rfen sffr

ﬁﬁﬁaﬁﬁiﬁm—(ﬁﬁﬁmm%ﬁaﬂ): I+b1s1.

i) SR R SdE--ane o »

i) 3 i H AR b §
iii) BT HI 2,4,6_3@‘5114}%1‘1‘?
v) b ) ffe s 530

v  Aferfafers s ) G T Ao
What happens when — (Write chemical equation only) : L+ 1«11

i)  Silver propionate reacts with Br, | CCl,?

1} Bromobenzene reacts with Mg in the presence of dry ether
)  Methyl bromide reacts with KCN (alc) ?
v} Ethyl bromide is heated with sodium ethoxide ?

vl Ethyl bromide reacts with silver acetate ?

]

—
[}

Write short notes on the I'ntinwiim t
1) Williamnon's synthesis
) Gattermann reaction

) Kolbe s reaction

(R
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Write short notes on the following
i Wurtz reaction
§) Wurtz-Fittig reaction -
141} Fittig reaction f ;'I
How wall you convert {erie vhemicil equation only)
1 Propene into propene 2;.’[ 2
1) Bensyvl chlonde into bendyl alcohol 7
1) Phenol into 2, 4, 6-tribromophenol ?
wi Phenol into Picnic acid ?

v Salicylic acid into Phenol ?

Ercafiefaps wrfte ) qof i

347(KC)
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. CH K,Cr,0s + H,S0. [ » NalOk
1} chycHo M8 B, " ScHoH A -l Fey
CH,

77 H,S0 Cretae
up  CgHsCN + HyO 504, (k) 1+1+1
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i (HCOO),Ca T ST (A)—22QH_,(B) + CH,OH

i
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. ' H 40
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Complete the following equations

Cuymgl (18 CH KCr 0« WSOy L Nt
CHCHO ey [ A | e “CHON A TV
'l' f“' -~ f“
{l” ’I_':“ ’-] 1 + ] LI
) CoHsCN + Hy0 s X | b
. . + ) 2 * 7
Write short notes on the Iulltwwni!{J ls
1) Carbylamine reaction
1) Hofmann's bromamide reaction

i)  Schmidt reaction.

OR

Complete the following reactions and write the names and formulae of 4 B,
C,Dand E. 1+1+1+14,

) (HCOO),Ca—2¥distlaton ) NaOH ,(g) +CH,OH

[N . ; . - . H 0

ii) (CH4C00),Ca +(HCOO),Ca By dstitaion 1 (C)—E L (D)—"2 g,
0

How will you obtain Ethylamixgg’ from the following ? Write chemial

equation only : l1+1+1+1-1

i) Methyl cyanide ii) Propanamide

i)  Acetamide iv)  Nitroethane

v) Ethyl isocyanate. —
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